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1. Solve the following antiderivative problems:
(i) /1n(2m+1)da: = éf@?ﬂ&('zfﬁ;{(ﬂﬂﬂmw%)
Uzt | Au=2dx.

= f(gz:a:,w)ﬁﬂ&wz) ~ (@2 -M)) #+C

(@) /:r:3 22::"-293% & | :/(x 7;;;: 2.47) /{ vy B%H}D)ﬁ/’é

e
< Abft-2 + 2 h@2r1) £D anctam e +C
sokie o A aud D

243 = Alx+1)+ @K,..%D)(sz)’</¢'*@}qj24(9—~2.$)% + A4 -2
CArb=o0  B=-A A=/

D-2B=] AAFDE/ 4+2$> = Pm' Lﬁ,/zwz/«férr(z )= ma‘fdﬂ%.-;a/

p-2p=? A-2D=3  Sh=

(iii) sin® xdz

f@«mf,{)xmf{m fymxdz [ e sina o =€
s o A = - =zl

= - 08V J—f'a%ﬁ = ~Cosx -#?4@?#@—

-

= —tosk + Flotw + (O .

(iv) /arcsin(Qx) dz _
w=prcsia 20t A= o o

e
ﬂ(y: i'(:?i | 9= XK
o ' : / 2
= %M-c-s«}ﬁ%“f%w/x = zancsinlo + 5 § 3% ofw-
—“f
WA=l A= «g’%ﬁ'm

| 7
= oncsin e + "%J//Z’«;ﬁc"‘“ LA In + & 5/*‘?’:&) “+(,



Honors Math 182 Quiz 6 Version A

2. The area bounded by the curves y = z%, y = 0 and z = 1 is depicted below.

(i) Find the volume formed by rotating this area about the z-axis.
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(i1) Find the volume formed by rotating this area about the y-axis.

' /
7/7 = fﬂﬁ%fij.'%” = f 271 22 dx

& o
o '4 _
= L %L / =
4?’ b 42, -,



